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(1) N.B.:- Questmn no 1 is compulsory.

(2) Attempt any THREE questions out of remaining FIVE questions.
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If mass, pér'unig area varies as the square of the ordinate of a point, find the mass (6)
of a lamina bounded by the cycloid y =a(1—cos€] . x=a(€+sinﬁ] and the

urdThﬁns from the two cusps and the tangents at the vertex
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A SMt that the !engrh of the arc of the parabola y* = 4ax cut off by the line
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Using fourth order Runge-Kutta method, find u(0.4) of the initial value problem )
u'==2t"  u(0)=1 take 7 =0.2.

2 (6)
Use method of variation of parameters to solve %r-';i -5 :?/ +6y=e"x’ O
X
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Using Taylor’s series method, obtain the solution of o 3x . y ©)
Find the value of y for x= 0. 1 mmact to four decimal pla
(8)
Find the value of the integral
(i) Trapezoidal Rule (ii) Simpson’s 1/3
Compare the errors with the exact valu the integral
A condenser of capacitance C is charged thrgughia resistance R by a steady (6)

V . If the plate is chargeless

find the charge and the current at time t
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Evaluate H—JE—-'-—JL—)—dr@ Qﬁmn common to x° +y* —avx=0 and =
x*+y?=-by=0, a> R O
Find the volume ca nght circular cylinder x* + y* = a’and 8)
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